



som legger til tre brøk

StudentName: _____

ExamDate: _____ ExamScore: _____

$$\frac{6}{4} + \frac{3}{8} + \frac{3}{5} =$$

$$\frac{2}{5} + \frac{5}{6} + \frac{2}{9} =$$

$$\frac{7}{3} + \frac{4}{9} + \frac{4}{2} =$$

$$\frac{1}{8} + \frac{6}{9} + \frac{3}{4} =$$

$$\frac{6}{7} + \frac{2}{8} + 1\frac{1}{2} =$$

$$3\frac{1}{2} + \frac{4}{9} + \frac{1}{9} =$$

$$\frac{1}{2} + \frac{4}{9} + \frac{3}{7} =$$

$$\frac{1}{4} + 2\frac{1}{2} + \frac{1}{8} =$$

$$\frac{5}{9} + 1\frac{1}{3} + 1\frac{2}{4} =$$

$$\frac{2}{8} + 1\frac{1}{4} + \frac{6}{4} =$$



som legger til tre brøk

StudentName: _____

ExamDate: _____ ExamScore: _____

$$\frac{6}{4} + \frac{3}{8} + \frac{3}{5} = \frac{99}{40} = 2\frac{19}{40}$$

$$\frac{2}{5} + \frac{5}{6} + \frac{2}{9} = \frac{131}{90} = 1\frac{41}{90}$$

$$\frac{7}{3} + \frac{4}{9} + \frac{4}{2} = \frac{43}{9} = 4\frac{7}{9}$$

$$\frac{1}{8} + \frac{6}{9} + \frac{3}{4} = \frac{37}{24} = 1\frac{13}{24}$$

$$\frac{6}{7} + \frac{2}{8} + 1\frac{1}{2} = \frac{73}{28} = 2\frac{17}{28}$$

$$3\frac{1}{2} + \frac{4}{9} + \frac{1}{9} = \frac{73}{18} = 4\frac{1}{18}$$

$$\frac{1}{2} + \frac{4}{9} + \frac{3}{7} = \frac{173}{126} = 1\frac{47}{126}$$

$$\frac{1}{4} + 2\frac{1}{2} + \frac{1}{8} = \frac{23}{8} = 2\frac{7}{8}$$

$$\frac{5}{9} + 1\frac{1}{3} + 1\frac{2}{4} = \frac{61}{18} = 3\frac{7}{18}$$

$$\frac{2}{8} + 1\frac{1}{4} + \frac{6}{4} = 3$$